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QUESTION 1

When you create a FlexVol volume, which security style is applied by default?
A. the security style of the root volume of the cluster

B. UNIX

C.NTFS

D. the security style of the SVM root volume

Correct Answer: A

QUESTION 2

Which failover policy is set by default on an iISCSI LIF?
A. local-only

B. broadcast-domain-wide

C. disabled

D. sfo-partner-only

Correct Answer: A

QUESTION 3

To which three objects on an ONTAP 9.3 cluster would you assign a QoS throughput floor? (Choose three.)
A. a volume on FAS

B. a LUN on AFF

C. avolume on AFF

D. an SVM on AFF

E. afile on AFF

Correct Answer: BCE

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-perf-mon%
2FGUID-77DF9BAF-4ED7-43F6-AECE-95DFB0680D2F.html

QUESTION 4
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Click the Exhibit button.

clusterl:: *> aggr create —aggregate aggr3 —diskcount 8 —-mirror true
First Plex

RAID Group rgl, 4 disks (block checksum, raid dp)

Position Disk Type Size

dparity i.0.21 B3RS -
parity 105 B3RS -
data 1.0.7 BSAS 2TB
data 1.0.9 BEAS 2TB

Second Plex

RAID Group rgl, 4 disks (block checksum, raid dp)

Position Disk Type 8ize

dparity 1.0.15 BSAS =
parity 1.0.17 B3RS -
data 1. 0.158 BESAS 2TR
data 1.0.13 EBEAS 2TB

Referring to the output shown in the exhibit, which aggregate capacity is available for a volume?
A. 4TB

B. 8TB

C.34TB

D.3.6TB

Correct Answer: A

QUESTION 5

Which NetApp product enables you to leverage legacy storage investments?
A. FlexClone

B. FlexGroup

C. Cloud Volumes ONTAP

D. FlexArray

Correct Answer: C
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